PreQuiz 7.2
Orbit 
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Favorite YouTube Video (besides Physics)









Show your work, and circle your answers and use sig figs to receive full credit.

1. What is the radius of the orbit that has an orbital velocity of 1020 m/s around the earth?  (m = 5.97 x 1024 kg) (3.83 x 108 m)

2. What is the radius of a luno-synchronous orbit?  (T = 2.36 x 106 s, moon’s mass is 7.36 x 1022 kg) (8.85 x 107 m)

3. E. You are in an elliptical orbit as diagrammed below.  You want to make your orbit circular, and equal to the distance to the planet in position C.  On the diagram below, indicate where you fire your engines, and whether you fire them to speed you up, or to slow you down?  (Answer both questions) (You would speed up at C)
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